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76. The exercise did not seem to be as easy ......... | thought it would be.
1) that 2) than 3) from 4) as
77. An article in Space Science magazine reports that astronauts who live aboard space stations for long pe-
riods of time ........ physical as well as mental problems.
1) who may experience 2) may experience
3) then they may experience 4) they may experience
78. Some people think those who plan to get married ....... to take marriage preparation classes for some

time before their wedding.
1) need 2) to need 3) they need 4) are needed
79. Economists are concerned that the rate of inflation will double if the government ......... take immediate

steps to control it.

1) were not 2) will not 3) does not 4) did not
80. To some people, the study of history is so valuable and is to be ........ as essential to a full education.
1) supplied 2) regarded 3) attended 4) informed
81. He received a phone call from the store telling him that someone had to be home to accept ........ of the
package they had ordered.
1) delivery 2) discount 3) demand 4) access
82. ... filled the minds of all of the passengers aboard the falling airplane.
1) Dread 2) Emotion 3) Disorder 4) Pain
83. Laylafelt ........ because nobody paid attention to her and behaved as if she wasn’t there.
1) rude 2) cruel 3) invisible 4) unchangeable |
84. Because the writer penned over two thousand poems, it will take a while for the publisher to ........ the
poetry into one single book.
1) exchange 2) compile 3) recite 4) surround
85. There are many English words whose ......... can be followed back to the Greek language. |
1) item 2) issue 3) sense 4) origin |
86. A dictionary ......... is a set of information that describes a word or phrase. I
1) abbreviation 2) calligraphy 3) guide 4) entry
87. The new computer systemis so ......... that no one at the office is able to use it properly.
1) serious 2) skillful 3) complicated 4) distinguished
Cloze Test
Fossil analysis shows that at least five periods in the last 600 million years (88) ........ a drastic reduction in o)

. . . R o
the number of species of plants and animals on the Earth. However, on previous occasions such changes were
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Part A. Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words or
phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then

mark your answer sheet.

76. The police decided to put speed cameras along the road because ......... seven deadly accidents in the past
year.
1) they had been 2) there had been 3) there have been 4) they have been
77. A language family is a group of languages ......... and similar vocabulary, grammar, and sound systems.
1) with a common origin 2) they are a common origin
3) and an origin common 4) are an origin that common
78. We spent a week in Istanbul, and then a month in a village. The villagers ......... were very welcoming.
1) they 2) them 3) themselves 4) who they
79. Penicillin acts both by killing bacteria ......... their growth.
1) so preventing 2) or to prevent 3) and by preventing 4) and it prevents

80. Living in a cold or damp home increases your chance of suffering from coughs and chest ......... .

1) habits 2) attacks 3) varieties 4) infections

81. Show an elephant a mouse and it will keep on moving, but angry bees could drive a whole ......... to run away.
1) herd 2) tool 3) plain 4) region

82. The child may ......... into tears if an unknown person hugs him or if left even momentarily in the care of

an unfamiliar person.

1) figure 2) burst 3) convert 4) measure

83. 80% of parents think that television is ......... to society and especially to children.
1) strange 2) domestic 3) powerful 4) harmful

84. To learn to speak a language ......... , you have to live in the country where that language is spoken.
1) increasingly 2) interestingly 3) properly 4) probably

85. “Do you remember much about the accident?” “No, it all happened so ......... it
1) calmly 2) carefully 3) suddenly 4) voluntarily

86. Then there is the view that caring about the environment is not necessary because this is something that
will ......... itself, which is not true.
1) look after 2) make up 3) consist of 4) stand for

87. My old friends promised they’d call me every day after | moved away, and that we’d stay as close as ever. But
it’s been a few months since | left, and | haven’t heard from them at all. | guess it’s true when they say ......... .
1) easy come, easy go 2) practice makes perfeet
3) out of sight, out of mind 4) don’t count your chickens before they hatch



Part B. Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which

choice (1), (2), (3), or (8) best fits each space. Then mark your answer sheet.

Research suggests that the best way to carry out certain kinds of projects is to have a number of people
working together on a team. The main reason why a teamiis (88) ......... asingle person s that a group of people
has awider (89).......... of knowledge and skills. In addition, with more hands and minds focused on the project,
it(90)......... more quickly. Moreover, studies show that working as ateam also has an effect on creativity. People

who work in a group tend to take more risks than people working alone. Each person in the group feels freer

to experiment with a variety of solutions because the group as a whole is (91) ......... , and not the individuals
init. (92) ......... , the group can solve problems better.
88. 1) good for 2) as good as 3) the best of 4) better than
89. 1) circle 2) range 3) purpose 4) section
90. 1) completed can usually be 2) can usually complete
3) can usually be completed 4) can complete and usually
91. 1) valuable 2) exact 3) general 4) responsible
92. 1) However 2) As a result 3) Although 4) Whereas

Part C. Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.

Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

Vegans can be hard to cook for. Like vegetarians, they do not eat meat. But they also rule out other animal
products, like eggs, milkand sometimes even honey. There are different reasons people choose to be vegan, like
animal welfare or as a way to eat healthier. But there is another reason that has been getting a lot of attention
recently. Last month, a big study came out looking into the effect our food has on the environment. And
it found that eating less meat is one of the most important things we can do to help the planet. You see, a
huge amount of the earth’s resources go into raising livestock for meat. In some places, forests are cleared
to make space for animals and to grow their food. M also use a lot of water. And these ones in particular
create a lot of carbon emissions. Cows are responsible for about 16 per cent of the world’s greenhouse gas
emissions. The study says, to prevent permanent damage to our planet, the average world citizen needs to
eat 75 per cent less beef, and 50 per cent fewer eggs. Of course, not everyone is going to go vegan or give up
eating meat completely. But swapping your beef for beans or your chicken for chickpeas every so often might
not be such a bad idea.

93. What does the passage mainly discuss?
1) Some animal products 2) The importance of eating less meat
3) Common interests of vegans and vegetarians 4) The relationship between our food and our health
94. Based on the information in the passage, which of the following is NOT one of the reasons why people
choose to be vegan?
1) They want to be unique. 2) They want to support animals.

3) They want to have a healthier diet. 4) They want to help protect the environment.
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95. The word “they” in the passage refers to ......... .

1) animals 2) forests 3) resources 4) carbon emissions
96. It is suggested in the passage that raising animals for food ......... .

1) cannot be prevented because it is a moneymaking business

2) is as important as growing beans and chickpeas

3) is not a bad idea despite what studies say

4) has harmful effects on our planet

PASSAGE 2:

Avocado’s recent popularity growth is hard to ignore. As | have recently discovered from my recent trips
around Europe, avocado is enjoying popularity beyond my native country. It is now on offer in most cafés and
restaurants, especially when paired with poached eggs to create a delicious breakfast/ lunch. On my recent
trip to Berlin | was delighted by avocado chocolate cake which seemed like a healthier and more nutritious
option than the normal version. | bought it in a vintage bike café. I tried it and it was delicious. Another day |
went to a coffee place where the menu also offers avocado in all shapes and forms. My combination of toast,
avocado, tomato jam and hummus was fantastic. It got me thinking: is this avocado craze explained by scien-
tific facts? So | decided to do a bit of research: what health benefits does avocado have to offer?

Well, there are quite a few reasons why avocado is described as a ‘superfood’. Avocado is packed full of
important vitamins and minerals. It has numerous health benefits. In many ways it helps us stay beautiful. It
helps our digestive system which means it aids weight loss. It keeps our skin looking healthier and younger
and our hair strong. It also has positive impact on the inside of our bodies! It helps prevent heart disease be-
cause it helps us maintain low cholesterol levels. It also strengthens bones and helps our blood sugar levels
stay at a healthy level.

97. What does the passage mainly discuss?

1) An interesting incident

2) Different types of avocado in Europe

3) A popular fruit and its advantages for health

4) Why a type of fruit is described as a superfood
98. Which of the following best describes the author’s attitude towards avocado?

1) Emotional 2) Positive 3) Balanced 4) Concerned
99. According to the passage, the writer ......... .

1) went on a trip to do research about avocado

2) tried avocado only in his/her favorite place

3) decided to collect information about avocado

4) introduced new combinations of avocado to other people on his/her trips around Europe
100. According to paragraph 2, which of the following is NOT TRUE about avocado?

1) It keeps our blood sugar at a safe level.

2) It contains important vitamins and minerals.

3) The inside and the outside of our bodies are influenced by it.

4) It cures heart disease by controlling cholesterol levels.
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